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MAULANA AZAD NATIONAL URDU UNIVERSITY, HYDERABAD
(Accredited “A+” Grade by NAAC)

Directorate of Distance Education

Assignment No. 1 (Unit 1 to 5)

Programme: B.Sc. 4™ Semester (Mathematics)

Paper: Real Analysis

2019 Admitted Batch
Max Marks:10 Last Date: See Notice
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MAULANA AZAD NATIONAL URDU UNIVERSITY, HYDERABAD
(Accredited “A+” Grade by NAAC)

Directorate of Distance Education

Assignment No. 2 (Unit 6 to 10)

Programme: B.Sc. 4™ Semester (Mathematics)

Paper: Real Analysis

2019 Admitted Batch
Max Marks:10 Last Date: See Notice
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MAULANA AZAD NATIONAL URDU UNIVERSITY, HYDERABAD
(Accredited “A+” Grade by NAAC)

Directorate of Distance Education

Assignment No. 3 (Unit 11 to 16)
Programme: B.Sc. 4™ Semester (Mathematics)

Paper: Real Analysis

2019 Admitted Batch
Max Marks:10 Last Date: See Notice
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